20164EHE BINRS=7Y—Y (JRS—XE21E =7 H13E)

No-1 O—40 I #5E: 2016/10/30
5 o 18 |osigau 1 EXET N
gl A B £ 15 | RIHEL|No *tEEH—F 1-4% BECL) Frsa B
TEEE 1 BFy=7 1 4 INRINE =R ®iR71=992 FMEFCYZT 9:30
2 BIRITZYIR 2 0 MMEFCY=T Bryz7 IMATVE =R 10:50
1| sgem HHKYZ7 | 3 KT 4 0| HAN-RT-Yav7'IR S NTFFCYZT 12:10
R 4 Ya-h-2 1 0 NTAFCYZF #ky=7 PAN=-AT-VaVT TR 13:30
k=7 5| 2z ] 16:10
HMEFCYT B 16:10
E3: 13 1 £RI1zvHR 3 1 BFFy=7 INATLAE =R HKY=7 9:30
G 2 IMRILY -R 1] |0 k=7 £3R717952 BFY-7 10:50
2 | 78108 Ya-h-2| 3 Ya-h-2 0| |1 HMEFCY=7 FAN=AT—Y3VTFA NTHFCYZ7 12:10
RIEEMR 4| YAN-RT-YaV7'R | 6] |0 NTFFCYZT Va—h-2 WMEFCYZT 13:30
IMAILE-2'| O-55Y—4| 5 Glanza55 1 5 +240 14:50 E -yl
bk 4 6 16:10
IMRTTR 1 MMEFCYZT 0 1 NTHFCYZ7 IMRINE =R ®iR71=99R 9:30
G 2| YAN-27-Yav7IA | 1] |3 S HMEFCYZT NTEFCYZT 10:50
3| 78318 ATV 2| 3 IMAIVE R 0 0 RIRI1=yIR FAN=RF—YaVT'5R RS 12:10
RIEEMR 4 #Kkyz7 2| |4 BFY7 INRINE =R MEY=THyA— RS | 13:30
AT 5 INATLE =R 5| | 0| MBE=THI—EEE HKY=7 BFY7 1450 | 0-50—%'8
S 6 16:10
FEG 1 RS K7 WMEFCYZ7 IMRIVY =R 9:30
2 MMEFCY=T INRILE =R Va—h-2 k=7 10:50
4| ogam BFy=7|3 BFY=7 PAN=AT=YAVT TR NFHFCY=F ®iR71Z99R 12:10
RIEEMR 4 NTFFCYZT £IRIIZYIA BFyz7 YAN=AT—VaVT TR 13:30
HMEFCY=7| 0-55=4'| 5 ARA55 Glanza55 14:50 H3H
IMRIVY -2 6 [o-6sEZABIHTS | 16:10
RiGRL 1 MMEFCYZT K7 Bry=7 RS 9:30
= 2 EFFY=7 Y a—h-2" HEFCY=F k=7 10:50
5 | eg18m NTFFCYZ7| 3 NTAFCY=F INAILE =R FAN=AT—VaVT5R RIRI1=YIA 12:10
SIGER 4| YAN-RT-VaVT IR ®iRI1=9IR NTAFCYZT IMAIVE-R 13:30
BFy=7 |0-55Y-4| 5 ARA55 +£o40 14:50 B
R 6 [JriEBasDRIEREICET ] 16:10
ESor- N 1 INRINY =R FAN-AT—VaVT'5A $KY=7 NTAFCYZY 9:30
2 il g NTAFCY=T IMATLE - HAN-ZT-4av77X | 10:50
6 | 10828 &iR717993 3 RIRIIZYIR Y'3—h-2 Brry=7 MEFCYZ7 12:10
SIGER 4 BRFYz7 WMEFCYZT ®IRI1=9IR Va-h-2 13:30
®R71=99A| 0-65 | 5|05 BmANICKTA | 14:50 ZimAE
N71FCY=7| 0-55-7"| 5 +£740 Glanza55 14:50 68
AigBR 1 Ya-h-x MBIV - NTFFCYZF By 9:30
2 NTAFCY=F Y=Y Ya-h-R IMATLY R 10:50
7 l108168 HMEFCYZ7| 3 WMEFCYZY FAN-AT—YaVT TR $KY=7 £IRI1=YIA 12:10
RIBER 4 #Kkyz7 #iRI1ZYIR MEFCYZT YAN=AT—VaVT TR 13:30
NTAFCY=F 5 E#435/2FE400 LA EIZFHF TS | 16:10
BRFy=7 6 16:10
1 9:30
2 10:50
8 3 12:10
4 13:30
5 14:50
5 14:50
1 9:30
2 10:50
0 3 12:10
4 13:30
5 14:50
6 16:10
1 9:30
2 10:50
10 3 12:10
4 13:30
5 14:50
6 16:10
1 9:30
2 10:50
» 3 12:10
4 13:30
5 14:50
6 16:10
1 9:30
2 10:50
12 3 12:10
4 13:30
5 14:50
6 16:10

X BEOFIHE 2R ICU BT —LRRSREWBIZITIE, Fn1RFRHEAT




20164EHE BINRS=7Y—Y (JRS—XE21E =7 H13E)
No-1 0—40 If A-B %E: 2016/10/30

& 42 |oymigw e 1s = ¥ N
#i| A B R 15 | RIBEL|N S A—F 1.4 A=) Ealalisii]
ANECT 1 PEFCN'yHR 2| |1 FOiRtEh 5 Hrmv=y NATLY 9:30
2 e my=7 2] |0 NATLY RE#FCAvHR FCIEWHRE 10:50
1 | ag17mE miEcrei| 3 MESFCTAE + £40BIRD RREVT FC.TON 1210 |#AICOEHERE
KI5 4 ®IRAYT FC.TON MESFCT4F + E40BIRD 13:30 |B&REICDEIEE
i SlaafLata 0-50-0-601=%TH ] 1450
NATLY 6 | 16:10
WMEEE) 1 WMESFCT4F 1 1 BEEVZT FC.y7'0% FCEMEHE 9:30
~E 2 30'S 1 0 FC.TON WMESFCT44 BEEVZT 10:50
2| sgim FC.y7'09| 3 FC.y7'RY 3 1 FCEMEHE 30'S FC.TON 12:10
KI5 4| ®RIIZYIA-EHUE |1 2 + E40BIRD NAILY XEJIIFCY=7 13:30
30's 5 NAILY 0 2 EJNIFCYZ7 SIRTIZYIR-EHUN £ E40BIRD 14:50
FC.TON 6 ] 16:10
NG 1 EJIIFCYZT7 -+ E40BIRD i 3 d 9:30
3| 6526m RgFCAvhA| 3 PIEFCN yhR 2 2 NAILY FARHYZT Ee 10:50
KI5 4 + E40BIRD 3| |0 BEEVZ7 RE#FCN vhR NAILY 12:10
£Rmy=7|0-55)-7'| 5 £o40 4| |1 ARA55 13:30 kil
MNECFCT 4 6 14:50

B4y 1 mEY=7 0| |4 FC.y7'm4 MIFLFCTAF FC.TON 9:30
h—i5 2 ANFECFCTAE 3| |2 FC.TON MmEY= FC.Y7'0y 10:50
5| 78178 NAILY | 3 NAILY 0 0 FCEEHSE SIRIIZYIR AU 30'S 12:10
RIGER 4| ®RIIZYIR-EAUN | 4| |2 30'S NAILY FCEWEHRE 13:30
NEFCT 4 5 14:50
FC.TON 6 16:10
Sl 1 FaAY=T 0| |1 FC.¥7'R4 £ 240BIRD 30'S 9:30
+E40BIRD| 2 -+ E40BIRD 8| |1 30'S Frmy=7 FCy7'0Y 10:50
6| 78248 3 REEVZT o |1 £IRAY=T MELFCT44 FC.TON 12:10
RI5E R 4 MELFCT4F FC.TON REEVZT £iREY=T 13:30 it 4
+ E40BIRD 5
30'S 6 16:10
MEEL 1 BEFEVZT EIRIIZYIA- AU mEy=7 XJIIFCY=7 9:30
2 30'S NELFCTA4 HExV=7 #IRTIZYIA LAY 10:50
7 | sm2sm fEY=7| 3 ME=7 %£JIIFCY=7 30'S AESFCTAF 12:10
SBEH BEcozase o Jnse (T F 10RO #EECHRA TS | !
30'S 5 14:50
INECFCT 14 6 16:10
gL E 1 REEVZ7 30's FC.TON £IR71zy)R- AN 9:30
# 2 FC.TON £RIT=yHR-HAUN BEEYT 30'S 10:50
o | 9mem FoRETE| 3 FCEMETRE ME=7 ZIIFcy=7 | mgFCAvAR 12:10
RIGER 4 £iREV=7 + E40BIRD FCRMEHE mnEy=7 13:30
FC.TON 5 =JIIFCY=7 PIEFCA yhR ®IREY=F £ E40BIRD 14:50
SIRTI=IR- LAY 6 16:10
FHES 1 PIEEFCA yhR a7 NAILY E=7 9:30
G 2 NATLY sy REEFCA VAR Hamyzy 10:50
o | op2sm ereent| 3| IRIIZYIR-EAUY MESFCTAF %£JIIFCY=7 FC.y7'm9 12:10
RIGE R 4 %£JIFCY=7 FC.y7'R) RIRIIZYIAEHUN MIESFCT4H 13:30
NATLY 5 14:50
nEy=7 6 16:10
KR 1 %JIIFCY=7 FCIEWEHE [ FC.TON 9:30
2 FC.y7'0% PEFCN yhR Z)IIFCY=7 FCEIBTRE 10:50
10| 10828 BEEV=T |3 BEEVZT FC.TON FC.y7'n% PEFCA yhA 12:10
RIGE R 4 nEy=7 Frahyz7 30'S £REV=7 13:30
FC.y7'm9 5 30'S ®iREY=7 mEy=7 Frahy=7 14:50
PIREFCN VIR 6 [GbiEras bR 23T ] 16:10
ZEZE 1 EY=7 HEFCN yhR FC.TON + 240BIRD 9:30
# 2 FCi2iEh 5 B amyzy mEY=7 PIFCINyhA 10:50
1| 10898 FC.TON | 3 FC.TON + E40BIRD FCEMEHE FAamvzy 12:10
RIGE R 4| 2IRIIZYIR-EAUN ®IREVT FC.y7'0Y NAILY 14:50
FCitgh%& 5 FC.y7'nY NATLY ®IRI1=YIR LA ®iREY=7 16:10 | 8/28KVUZEE
B amy=7 6 16:10
1 NATLY [ FCEMEFE 30'S 9:30 —
AL 2 nEy=7 BIRIIZYHR-EHUN NAILY BEEVT 10:50 tﬁéfﬁgz;
12| 11868 FoRths| 3 MO TES 30'S mEZT £iRIz=vHR-wAUE | 1210 AB 7H
SIHER 4 13:30 A-B 6fI
mEY=7 5 14:50 A-B 5ff
@RITZIR- N 5 |[JL{= 355 /60 LS A= FT | 16:10
—_. 1 %JIIFC"{-? IiC.T(?N WiﬁFo/\~ vhR EiRmEY=7 9:30 B2 (O—4
2 PI#EFCN yhR £REY=T =JIIFCY=7 FC.TON 10:50 Ko—(3E<p
FamyI7| 3 3 di =4 MELFCT4F FC.y7'my £ E40BIRD 12:10 A-B 4f
15|11 8138 2BER i =5 - N = ) A-B 3fi
= & 7'y £ E40BIRD Frhv=T MEFCTH 13:30 PNE
RFEFCN'vhA 5 14:50 AB 1
£RmY=7 6 16:10

X BHOFIHE- 2R ICH3F— LR BRERNZITOE Mok 1E MM



20164EHE BINRS=7Y—Y (JRS—XE21E =7 H13E)

No-1 0—50 %E: 2016/10/30
o 2 |omigaw B = ¥ R
#i| A B R 15 |RIBELH|No *tEEH—F 148 BEQE) Frsa B
fEBEA 1 MMESFCT A7 2 0 NALIUFC 30'S FC £IRI1=YIRIFT 9:30
2 30'S FC 1 3| ®RIIZYIRIFT MEFCTAA NALIUFC 10:50
1 | 4g10m +R40BIRD| 3 £ E40BIRD 0 3 9’707 1-IWFC Bily=7 e e 12:10
KI5 4 E[T2 6 1 e £ E40BIRD 9’7079 1-IFC 13:30
S0SFC i1 BILHAE 0-50-0-60I2FTHI8 FRELTLM=EEHA(L0-40 I BESHA~ 14:50
®iRI1=992977 | 6 16:10
FHRES 1 #7'09SC 1 1 WNEFCTAA Bily=7 IMNRIVY -2 9:30
G 2| EITHA-BEE | 2| |4 YI-h-AY=7 #7'09SC MESFCTAA 10:50
2 | sg15m Hily=7 | 3 Aily=7 2 2 IMAIVE =R I =T7Hyh—{BEER e e 12:10
RIGER 4| #RIzvIRIFT |1 0 7Y 1-IVFC 30'S FC + E40BIRD 13:30
=T yoh-s 5 30'S FC 0 0 £ E40BIRD ®iR71=y9R977 97U 1-IFC 14:50
VI-h-RY=7 6 16:10
E3:f::3) 1 NAILYFC 0 4 30'S FC 7’709 1-IWFC ME=THyA—EEE | 9:30
G 2| #R71z9h2937° | 3] |1 MFLFCTAA NALLUFC 30'S FC 10:50
3| sg19m 97y -Fc| 3 ' 7U9 1-IVFC 7 1| MEY=THyI—AEE | &IRI1ZvIRIFT WNEFCT A7 12:10
RIGER 4 £ E40BIRD 1 8 Biy=7 #7'09SC INRILVE =R 13:30
®RI=IR957 5 47'09SC 1 3 INAILE-R + 240BIRD Bily=7 14:50
MEFOT 14 6 || =40kt S (1= FT | 16:10
A= 1 777 1-IFC o |1 #7'19SC 30's FC By=7 9:30
2 30'S FC 0 2 A=y 707 1-IWFC #7'09SC 10:50
ol 5meE ey 2| 3 INATLY R 0 0| RRIT=YIRY77 WNEFCTAA MMES-THyI—ERER | 12:10
KI5 4 MEFCTAA 3| | 0| MBY=THyI—EZE INRIVE =R £iRI1=992977 13:30
30'S FC 5 14:50
Hiy=7 6 16:10
ﬁﬁZ‘f‘E_ 1 NAILVFC 0| |o #7°R9SC Ya-h-AYz7 £IR71=y92H77 9:30
ﬁgdﬁ 2| MAIFEFCTa4A O] |1 + E40BIRD NALVIFC #7'09sC 10:50
) va-h-2v77| 3 M 2 4 0 0 ®IRI1=99R2957 MMEFCTAA -+ E40BIRD 12:10
RIGER 4 97Uy 1-IVFC 0| |2 30'S FC B Y=THyh—1BEER (1T 13:30
MECFOT A4 5| MEY=THyI—EEER | 0 2 Ay=7 97U 1-IFC 30'S FC 14:50
+ E40BIRD 6 16:10
ML 1 INRINY =R 3] |2 Ya-h-A"V=¥ IEY=THyh—1BEE 30'S FC 9:30
2 NAIIYFC 1 5|  ®IRI1=vHR977 INRIVE =R Va-h-RY=7 10:50
6 | 1820m wwern-nan| 3 | NEYZTHUN—BEER | 3] | 2 30'S FC NAILUFC £RI1=9IRYF7T 12:10
2GR 4 A=y 3 1 97U 1-IFC #7'09SC +£ E40BIRD 13:30
NAIWVFC 5 #7'09SC 2 1 -+ E40BIRD Bwy=y 97U 1-IVFC 14:50
®@RI=99R957 6 16:10
= 1 VI-h-AY=7 97U 1-IWFC MNESFCTAF 30'S FC 9:30
2 £ E40BIRD N =7 Hyh—IEZER e S 4 97U 1-IFC 10:50
o miEFeFo1| 3 MNESFCT A7 30'S FC £ E40BIRD MEY=THA—EEE | 1210
2GR 4 Biliy=7 #7'09SC NAILUFC IMNRILY =R 13:30
+ 240BIRD 5 NAIVUFC IMNBRING =R Bwy=y #7°'19SC 14:50
TR 6 BILEE BILRE 16:10
— 1 £ 240BIRD IMNBING-R #7'09SC £iRI1=yIR977 9:30
2 NAIIYFC A=y £ E40BIRD IMNRILY =R 10:50
s | og25m #7'09SC | 3 #7'09SC EIRI1=YIRH77 NAILVUFC A=y 12:10
2GR 4 R 30'S FC 97U 1-IFC WMEFCT 1A 13:30
NAILYFC 5 97U 1-IFC MFFCTAA Ya-h-AY=7 30'S FC 14:50
B1Y=7 |0-55Y-%| 6 Glanza55 ARA55 16:10 5558
IMF =L 1| #RI1=vIR977 + E40BIRD NALLUFC MEY-THyH—BZRER | 9:30
2 #7'09SC Va-h-AY=7 RIRII=YIRITT + E40BIRD 10:50
o | 10898 NAIVYFC| 3 NAILUFC IEY=THyh—EEE #7°'09SC D2 e S 4 12:10
2I5%ER 4 30'S FC INRILY =R Biyz7 WNEFCT 1A 13:30
47'09SC 5 Hily=7 MFFCTAA 30'S FC INBINE-R 14:50
Yah-R'y=7 6 [pAvsmsIitREIIETS ] 16:10
— 1 INATLE - MFEFCTAA 30'S FC 47'09SC 9:30
2 9’707 1-IWFC NAIIUFC INRIVY =R WNEFCT 1A 10:50
10 108168 30'S FC | 3 30'S FC 47'89SG 97U 1-IVFC NALIUFC 12:10
RIGER 4| MEY=FHyh—BEER #iRI1=992977 + 240BIRD V'I-h-AYZ7 13:30
57U 1-IFC| 5 £ E40BIRD D MEY=THI—ERE  &IRI1ZyIRY77 14:50
NAILVFC 6 [4r =4 b A (-5 | 16:10
G 1 £ E40BIRD NAIVYFC ®iRI1Z9IR957 a7 9:30
2 MMELFCT 1A Y a-h-RY=F £ E40BIRD NAILYFC 10:50
11108238 @R=nn7| 3| RIRIIZYIRYFT Hily=7 MEFCTAA D2 e S 4 12:10
RIGER 4 #7'09SC MBEY=THyh—BEEE IMRINE =R 7Y 1-IFC 13:30
MECFOT A4 5 INBRINY-R 97Uy 1-IFC #7°'09SC MEY=THyA—EEER | 1450
Ya-h-RY7 6 16:10
R ED) 939
KISTRELET . 1990
12:10
13:30
5 14:50
I 6 16:10

OT&R)
KIZTRELET

B & - E2R AT AT — LAXRSREMBEITIE. Fh 1 FRIAT




20156k BINRS=7Y—Y (IRF—XE20[E =7 E12[E)

O0—55

#E: 2016/10/30

12
S

z
)

HE—K

1-4%

E #

BIECQHR)

sk R

6A26H

MG

9:30

10:50

12:10

13:30

2740

ARA55

14:50

16:10

7R108

FIMEARG

9:30

10:50

12:10

13:30

Glanza55

£240

14:50

16:10

9A4H

9:30

10:50

12:10

13:30

ARAS55

Glanza55

14:50

16:10

9A18H

AI5RG

0—65

9:30

10:50

12:10

13:30

alblwv=|lola|slo|dimlolalslw(d=|lo|lals|w|Nd|=

ARAS55

£240

14:50

F—L4LA

F—LB

16:10

9A25H

R#G

RIGHRE

9:30

10:50

12:10

13:30

14:50

Glanza55

ARA55

16:10

10A2H

RIGRG

9:30

10:50

12:10

13:30

F—LA

F—LB

14:50

ola|slw|dim|lo|alslwlnd]=

+2740

Glanza55

16:10

0-55-%7" &mi-L EF4E

F—LA

1:A 2:A

3:A

HEiEE
BMF—L
BMF—L
BMF—L
BMF—L
BMF—L
BMF—L
BMF—L

AIE NRER

AFnx




